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APTITUDE
DIRECTIONS: (Question No. 1 to 3) Study the following 
information and answer the questions given below it. 

A blacksmith has five iron articles M, N, O, P and Q each 
having a different weight. 

• M weighs twice as much as N. 
• N weighs four and a half times as much as O. 
• O weighs half as much as P. 
• P weighs half as much as Q. 
• Q weighs less than M but more than O. 

1. What of the following is the lightest in weight? 
(1) M (2) N 
(3) P (4) O    

funsZ”k% ¼ç”u la[;k 1 ls 3½ fuEufyf[kr lwpukvksa dks i<+sa vkSj uhps 
fn;s x, ç”uksa dk mÙkj nsaA 
,d yksgkj ds ikl çR;sd fofHkUu Hkkj okyh ik¡p ykSg oLrq,a M, N, 
O, P ,oa Q gSaA 

• M] N ds Hkkj dk nqxquk gSA 
• N] O ds Hkkj dk 4.5 xquk gSA 
• O] P ds Hkkj dk vk/kk gSA 
• P] Q ds Hkkj dk vk/kk gSA 
• Q] dk Hkkj M ls de gS ysfdu O ls vf/kd gSA 

1. dkSu Hkkj esa lcls gYdk gS\ 
(1) M (2) N 
(3) P (4) O    

2. Q is lighter in weight than which of the other two 
articles: 
(1) M, P (2) M, N    
(3) O, M (4) None of these 

2. Q dk Hkkj fdu nwljs nks oLrqvksa ls gYdk gS% 

(1) M, P (2) M, N    
(3) O, M (4) buesa ls dksbZ ugha 

3. Which of the following articles is the heaviest in 
weight? 
(1) N (2) O 
(3) M    (4) Q 

3. fuEufyf[kr esa dkSu&lh oLrq lcls Hkkjh gSa\ 
(1) N (2) O 
(3) M    (4) Q 

4. The difference between the simple and compound 
interest on a certain sum for 3 years at 10% p.a. is 
` 46.5, then which of the following is the sum? 
(1) ` 1600 (2) ` 1500    
(3) ` 1700 (4) ` 1800 

4. ,d fdlh fuf”pr jkf”k ij 10% çfro’kZ dh nj ls 3 o’kZ dk 
lk/kkj.k ,oa pØo`f) C;kt ds e/; vUrj ` 46.5 gS] rks og 
jkf”k fdruh gS\ 
(1) ` 1600 (2) ` 1500 
(3) ` 1700 (4) ` 1800 

5. By selling 18 chocolates, a vendor loses the selling 
price of 2 chocolates. Find his loss percent: 
(1) 8% (2) 12% 
(3) 15% (4) 10%    

5. 18 pkWdysV dks cspdj ,d foØsrk dks 2 pkWdysV ds foØ; 
ewY; ds cjkcj dh gkfu gksrh gSA rks gkfu çfr”kr crk,a% 
(1) 8% (2) 12% 
(3) 15% (4) 10%    

6. The length, breadth and height of a room in the 
shape of a cuboid is increased by 10%, 20% and 
50% respectively. Find the percentage change in 
the volume of the cuboid: 
(1) 65% (2) 75%    
(3) 85% (4) None of these 

6. ,d ?kukHk vkdkj ds dejs dh yEckbZ] pkSM+kbZ vkSj Å¡pkbZ esa 
Øe”k% 10%, 20% vkSj 50% dh o`f) dh tkrh gSA ?kukHk ds 
vk;ru esa çfr”kr ifjorZu crk,a% 

(1) 65% (2) 75%    
(3) 85% (4) buesa ls dksbZ ugha 

7. Keshav is travelling by car at the rate of 40 km/h. 
After 80 km he rests for 20 minutes. How long will 
he take to cover a distance of 240 km: 
(1) 6 hours 50 minutes (2) 6 hours 40 minutes    
(3) 7 hours (4) 7 hours 20 minutes 

7. ds”ko dkj }kjk 40 fdeh-@?kaVk dh nj ij ;k=k dj jgk gSA 
80 fdeh- ds i”pkr~ og 20 feuV dk foJke ysrk gSA 240 
fdeh- dh nwjh r; djus esa mls fdruk le; yxsxk% 
(1) 6 ?kaVs 50 feuV (2) 6 ?kaVs 40 feuV 
(3) 7 ?kaVs (4) 7 ?kaVs 20 feuV 

8. A job has to be completed by 12 boys in 15 days. If 
three boys are absent from the first day, then by 
what percentage should the remaining boys 
increase their rate of working to complete the job? 

(1) %
3
122  (2) %

2
122  

(3) %
3
133  (4) None of these 

8. 12 yM+dks }kjk fdlh dk;Z dks 15 fnu esa iwjk fd;k tkuk gSA 
;fn igys fnu rhu yM+ds vuqifLFkr jgrs gSa] rks “ks’k cps gq, 
dk;Z dks ckdh yM+dks }kjk iwjk djus ds fy, dk;Z dh nj fdl 
çfr”kr ls c<+k;k tkuk pkfg,\  

(1) %
3
122  (2) %

2
122  

(3) %
3
133  (4) buesa ls dksbZ ugha 
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9. The income of Anil, Firoz and Ketan are in the 
ratio 7:9:12 and their spending are in the ratio 
8:9:15. If Anil saves 1/4 of his income, then the 
saving of Anil, Firoz and Ketan are in the ratio: 
(1) 59:99:69 (2) 56:99:69    
(3) 56:96:69 (4) None of these 

9. vfuy] fQjkst+ vkSj dsru dh vk; 7:9:12 ds vuqikr esa gS 
,oa mudk [kpZ 8:9:15 vuqikr esa gSA ;fn vfuy viuh vk; 
dk 1/4 cpkrk gS rks vfuy fQjkst+ ,oa dsru dh cpr fdl 
vuqikr esa gksxh% 
(1) 59:99:69 (2) 56:99:69    
(3) 56:96:69 (4) buesa ls dksbZ ugha 

10. Ramesh started a business with a capital of ` 2100. 
After 4 months he admitted another partner Sujeet. 
What amount should Sujeet put in, So that the profit 
may be divided equally at the end of the year? 
(1) ` 3750 (2) ` 3350 
(3) ` 3150    (4) None of these 

10. jes”k us viuk O;kikj ` 2100 dh iw¡th ls vkjEHk fd;kA 4 ekg 
ds i”pkr~ mlus viuk lk>snkj lqthr dks cuk;kA lqthr dks O;kikj 
esa fdruh jkf”k yxkuh pkfg, rkfd o’kZ ds vUr esa ykHk dks cjkcj 
ck¡Vk tk,\ 
(1) ` 3750 (2) ` 3350 
(3) ` 3150    (4) buesa ls dksbZ ugha 

11. Pointing to a photograph of a boy Lokesh said, 
“He is the son of the only son of my mother”. How 
is Lokesh related to the boy? 
(1) Uncle (2) Father    
(3) Grand father (4) Brother 

11. ,d yM+ds ds fp= dks fn[kkrs gq, yksds”k us dgk] ßog esjh 
ekrk ds bdykSrs iq= dk iq= gSÞA yM+ds ls yksds”k dk D;k 
lEcU/k gS\ 
(1) pkpk (2) firk 
(3) nknk (4) HkkbZ 

12. If ‘dog’ is ‘cat’, ‘cat’ is ‘rat’, ‘rat’ is ‘mat’, ‘mat’ is ‘cow’, 
then which one of the following is not an animal? 
(1) Mat (2) Dog 
(3) Rat (4) Cow    

12. ;fn ^dqÙkk* ^fcYyh* gS] ^fcYyh* ^pwgk* gS] ^pwgk* ^pVkbZ* gS] ^pVkbZ* 
^xk;* gS] rks fuEufyf[kr esa ls dkSu&lk ,d tkuoj ugha gS\ 
(1) pVkbZ (2) dqÙkk 
(3) pwgk (4) xk; 

13. Complete the series by choosing the correct option. 
ELFA, GLHA, ILJA, _____, MLNA 
(1) KLMA (2) KLLA    
(3) KMLA (4) LKLA 

13. lgh fodYi dks pqudj Js.kh dks iw.kZ djsaA 
ELFA, GLHA, ILJA, _____, MLNA 
(1) KLMA (2) KLLA    
(3) KMLA (4) LKLA 

14. In some cars, there is the warning on external rear 
view mirrors “Objects are closer than they appear in 
mirror”. What type of mirrors are used in such cases? 
(1) Plane; (2) Convex; 
(3) concave; (4) None of these. 

14. dqN dkjksa esa ckgjh fiNys niZ.kksa ij psrkouh :i esa fy[kk gksrk gS 
ßoLrq niZ.k esa ftrus fudV fn[kkbZ nsrs gSa mlls vf/kd fudV gksrs 
gSaÞ ,sls ekeyksa esa fdl izdkj ds niZ.kksa dk iz;ksx fd;k tkrk gS\ 
(1) lknk( (2) mRry; 
(3) vory; (4) buesa ls dksbZ ughaA 

15. Equinox is the position when sub solar point fall’s on: 
(1) Equator (2) Cancer 
(3) Capricorn (4) Pole 

15. fo’kqo ,slh fLFkfr gS tcfd v/k%lw;Z fcanq fuEu ij fxjrk gS% 
(1) Hkwe/;js[kk (2) ddZ 
(3) edj (4) /kzqo 

16. The super computer of India Param Yuva–II has 
been developed by: 
(1) Tata Consultancy Services 
(2) Center for Development of Advanced Computing 
(3) Reliance Info Comm. 
(4) National Informatics Center 

16. Hkkjr dk ije ;qok&II uked lqij dEI;wVj fuEu }kjk rS;kj 
fd;k x;k gS% 
(1) VkVk dUlyVSalh lfoZlst 
(2) lsUVj QkWj MsoyiesUV vkWQ ,sMokULM DEI;wfVax 
(3) fjyk;Ul bUQks dkWe 
(4) us”kuy bUQkWjesfVDl lsUVj 

17. Which one is not an epic? 
(1) Beowulf (2) Illiad 
(3) Ramayana (4) Canterbury Tales 

17. fuEufyf[kr esa dkSu&lk ,d egkdkO; ugha gS% 
(1) ch;ksoYQ (2) byk;M 
(3) jkek;.k (4) dSUVscjh VsYl 

18. In history, the name of prince Khurram, came to 
be known as: 
(1) Jahangir (2) Shahjahan 
(3) Aurangzeb (4) Akbar 

18. bfrgkl esa jktdqekj [kqjZe dks fdl uke ls tkuk tkrk gS% 
(1) tgk¡xhj (2) “kkgtgk¡ 
(3) vkSjaxtsc (4) vdcj 
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19. Public Accounts Committee is constituted ......... 
year and it consists of not more than ......... 
members consisting of ......... members elected by 
Lok Sabha and not more than ......... members 
from Rajya Sabha. ......... was appointed the 
chairman of Public Accounts Committee recently: 
(1) Every, 22, 15, 7, K.V. Thomas 
(2) Every fifth, 18, 13, 5, M.M. Joshi 
(3) Every second, 25, 18, 7, L.K. Advani 
(4) Every, 20, 15, 5, Arun Jaitley 

19. lkoZtfud ys[kk lfefr ------ o’kZ xfBr dh tkrh gS ftlesa 
lnL;ksa dh la[;k ------ ls T;knk ugha gksrh ,oa blesa yksd&lHkk 
ds ------- lnL; ls T;knk ugha ,oa jkT;&lHkk ds ------ lnL; 
ls T;knk ugha gksrs gSaA lkoZtfud ys[kk lfefr dk v/;{k ------ 
dks gky gh esa fu;qä fd;k x;k% 
(1) çR;sd] 22, 15, 7, ds-oh- FkkWel 
(2) çR;sd ik¡posa] 18, 13, 5, ,e-,e- tks”kh 
(3) çR;sd nwljs] 25, 18, 7, ,y-ds- vkMok.kh 
(4) çR;sd] 20, 15, 5, v:.k tsVyh 

20. Identify among the following the Chinese 
investigating Journalist who was awarded the 
prestigious ‘Ramon Magsaysay Awards for 2014: 
(1) Saur Marlina Manurang (2) Wang Canfa 
(3) Hu Shuli (4) Fu Qiping 

20. fuEufyf[kr esa ls phuh [kksth i=dkj] ftlus çfrf’Br ^jeu 
esxlsls* iqjLdkj 2014 thrk] mls igpkusa% 
(1) lkSj efyZuk euqjax (2) oSUx dsUQk 
(3) º;w “kwyh (4) Qw fdfiax 

21. This is a ground penetrating radar and will 
provide centimeter scale resolution of the 
geologic structure of the subsurface. This is 
among the seven selected payloads that will be 
sent to Mars 2020 rover mission: 
(1) MEDA (2) RIMFAX 
(3) SHERLOC (4) MOXIE 

21. ;g ,d Hkw&Hksnh jMkj gS ,oa ;g mi&i`’Bh; dh HkkSxksfyd 
lajpuk dk lsaVhehVj Ldsy fjtksyw”ku çnku djsxkA ;g lkr 
p;fur isyksM~l esa ls ,d gS tks eaxy 2020 jksoj fe”ku ij 
Hkstk tk;sxk% 
(1) MEDA (2) RIMFAX 
(3) SHERLOC (4) MOXIE 

22. “Vistar” is the brand name of: 
(1) Newly launched 4G mobile phone 
(2) Newly launched Airlines    
(3) Newly launched Housing Scheme by Union Govt. 

for BPL families 
(4) Newly launched Health Awareness Scheme by 

Govt. of India 

22. ßVistarÞ fdldk ,d czkWUM uke gS% 
(1) u;k pkyw gksus okyk 4G eksckbZy Qksu 
(2) u;k pkyw gksus okyk ,;jykbZUl 
(3) BPL ifjokjksa ds fy;s la?k ljdkj }kjk pkyw gksus okyh 

u;h x`g ;kstuk 
(4) la?k ljdkj }kjk pkyw gksus okyh u;h LokLF; tkx:drk 

;kstuk 

23. The film, ‘Bhaag Milkha Bhaag’, based on the life 
of Milkha Singh, an ace runner, was directed by 
the same person who directed 
(1) The Bandit Queen (2) Pan Singh Tomar 
(3) Rang De Basanti (4) Lagaan 

23. loZJs"B /kkod feY[kk flag ds thou ij vk/kkfjr fQYe ^Hkkx 
feY[kk Hkkx* dk funsZ”ku mlh O;fDr us fd;k ftlus ------- 
fQYe dk funsZ”ku fd;k & 
(1) n cSafMV Dohu (2) iku flag rksej 
(3) jax ns clarh (4) yxku 

24. Identify the wrong match: 
(1) Haldia Port : West Bengal 
(2) Tuticorin Port : Tamilnadu 
(3) Kandla Port : Gujarat 
(4) Paradip Port : Andhra Pradesh 

24. xyr tksM+s dks igpkusa% 
(1) gfYn;k iksVZ & if”pe caxky 
(2) rwrhdkjhu iksVZ & rfeyukMw 
(3) dkanyk iksVZ & xqtjkr 
(4) ikjknhi iksVZ & vkU/kz çns”k 

25. Sanskrit Granth ‘Hitopedesh’ was written by: 
(1) Chaitanya (2) Narayan Pandit 
(3) Kalidas (4) None of these 

25. laLÑr xzUFk fgrksins”k ds ys[kd dk uke gS% 
(1) pSrU; (2) ukjk;.k iafMr   
(3) dkyhnkl (4) buesa ls dksbZ ugha 

26. 15 Children are standing in a row facing North. 
Ravi is to the immediate left of Prabha and is 8th 
from the left end. Arjun is second from the right 
end. Which of the following statements is not ture? 
(1) Prabha is 7th from the right end 
(2) There are four children between Prabha and Arjun 
(3) There are five children between Ravi and Arjun 
(4) Arjun is 13th from the left end 

26. 15 cPps mÙkj fn'kk dh vksj eq¡g djds ,d iafä esa [kM+s gSaA 
çHkk ds Bhd ck,a rjQ jfo gS tks fd ck,a Nksj ls 8osa LFkku ij 
gSA nk,a Nksj ls nwljs LFkku ij vtqZu gSA fuEufyf[kr esa ls 
dkSu&lk dFku vlR; gS% 
(1) nk,a Nksj ls 7osa LFkku ij çHkk gS 
(2) çHkk vkSj vtqZu ds chp esa 4 cPps gSa 
(3) jfo vkSj vtqZu ds chp esa 5 cPps gSa 
(4) ck,a Nksj ls 13osa LFkku ij vtqZu gS 
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27. The proposals for the partition of India and 
Pakistan were contained in the: 
(1) Cripps Mission Proposals 
(2) Cabinet Mission Proposals 
(3) Mountbatten Plan of 3rd June 1947 
(4) None of the above 

27. Hkkjr vkSj ikfdLrku ds c¡Vokjs dk çLrko fdlesa fufgr Fkk% 
(1) fØIl fe”ku çLrko 
(2) dSfcusV fe”ku çLrko 
(3) ekmUVcsVu Iyku 3 twu] 1947 
(4) buesa ls dksbZ ugha 

28. A card is drawn from a pack of well shuffled deck 
of 52 cards and its probability is 1/4 then which of 
the following is possible: 
(1) Getting a “card of hearts” (2) Getting a black card 
(3) Getting a Jack (4) None of these 

28. HkyhHkk¡fr feyk, gq, rk”k ds 52 iÙkksa dh ,d xM~Mh ls ,d 
iÙkk fudkyk tkrk gS vkSj mldh çkf;drk 1/4 gS rks 
fuEufyf[kr esa dkSu&lk laHko gksxk% 
(1) ,d iku dk iÙkk ikuk (2) ,d dkyk iÙkk ikuk 
(3) ,d xqyke dk iÙkk ikuk (4) buesa ls dksbZ ugha 

29. A candidate for election to the Rajya Sabha must 
be not less than: 
(1) 35 Years of age (2) 25 Years of age 
(3) 30 Years of age (4) 40 Years of age 

29. jkT; lHkk ds pquko gsrq ,d vH;FkÊ dh vk;q fuEu ls de ugha 
gksuh pkfg,% 
(1) 35 o’kZ (2) 25 o’kZ 
(3) 30 o’kZ (4) 40 o’kZ 

30. Curie point is a temperature at which: 
(1) Matter becomes radio active 
(2) A magnetic material undergo a sharp change in 

their magnetic properties 
(3) A metal loses conductivity 
(4) Transmutation of metal occurs 

30. D;wjh fcUnq ,d rkiØe gS ftl ij% 
(1) inkFkZ jsfM+;ks/kehZ gks tkrk gS 
(2) ,d pqEcdh; inkFkZ dh pqEcdRo xq.k/keZ esa rh{.k ifjorZu 

vk tkrk gS 
(3) /kkrq viuh pkydrk [kks nsrk gS 
(4) /kkrq dk Vªk¡lU;qVªs”ku gks tkrk gS 

31. Gross National Product (GNP) of a country is sum 
of the market value of all goods and services 
produced in a year: 
(1) Plus export Earnings 
(2) Plus Market value of imports 
(3) Minus foreign aid 
(4) Plus net income from abroad 

31. ,d ns”k dk ldy jk’Vªh; mRikn o’kZ esa mRikfnr lHkh oLrqvksa 
,oa lsokvksa dk ckt+kj ewY; ,oa ---- dk ;ksx gS% 
(1) fu;kZr vk; 
(2) vk;kr dh ckt+kjh ewY; 
(3) fons”kh vuqnku ?kVkdj 
(4) fons”kksa ls fucy vk; 

32. 60% of the students in a school are boys. If the 
number of girls in the school is 300, then the 
number of boys is: 
(1) 500 (2) 300 
(3) 450 (4) 750 

32. ,d fo|ky; esa yM+dksa dh la[;k dqy fo|kfFkZ;ksa dh la[;k dk 
60% gSA ;fn fo|ky; esa yMa+fd;ksa dh la[;k 300 gSa rks yM+dksa 
dh la[;k D;k gS% 

(1) 500 (2) 300 
(3) 450 (4) 750 

33. It is required to get 40% marks to pass an exam. A 
candidate scored 200 marks and failed by 8 marks. 
What were the maximum marks of that exam: 
(1) 530 (2) 540 
(3) 520 (4) None of these 

33. ,d ijh{kk esa lQy gksus ds fy, 40% vad çkIr djuk gSA 
,d fo|kFkÊ 200 vad çkIr djrk gS vkSj 8 vadksa ls vlQy 
gks tkrk gSA ml ijh{kk dk vf/kdre vad D;k gksxk\ 

(1) 530 (2) 540 
(3) 520 (4) buesa ls dksbZ ugha 

34. In a division sum, a student took 63 as divisor instead 
of 36. His answer was 24. The correct answer is: 
(1) 36 (2) 42 
(3) 32 (4) None of these 

34. ,d Hkkx okys loky esa ,d fo|kFkÊ us foHkktd 36 dh txg 
63 fy;kA mldk mÙkj 24 FkkA lgh mÙkj D;k gksxk% 

(1) 36 (2) 42 
(3) 32 (4) buesa ls dksbZ ugha 

35. The perimeter of an isosceles triangle is 42 cm 

and its base is 
2
11  times each of the equal sides. 

Find the length of each side of triangle: 
(1) 12 cm, 12 cm, 18 cm (2) 6 cm, 6 cm, 9 cm 
(3) 18 cm, 18 cm, 24 cm (4) None of these 

35. ,d lef}ckgq f=Hkqt dk ifjeki 42 cm gS ,oa bldk vk/kkj 

çR;sd cjkcj Hkqtk dk 
2
11  xquk gSA rks f=Hkqt dh çR;sd Hkqtk 

dh yEckbZ crkvksa\ 
(1) 12 cm, 12 cm, 18 cm (2) 6 cm, 6 cm, 9 cm 
(3) 18 cm, 18 cm, 24 cm (4) buesa ls dksbZ ugha 
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36. A quadrilateral with a pair of opposite sides 
parallel is called: 
(1) Parallelogram (2) Trapezium 
(3) Polygon (4) None of these 

36. ,d prqHkqZt ftldh foijhr Hkqtk,¡ lekukUrj gSa] dgykrk gSa% 
(1) lekUrj prqHkqZt (2) leyEc 
(3) cgqHkqt (4) buesa ls dksbZ ugha 

37. Find the total surface area of a cylinder having 
radius of the base 14 cm and height 30 cm. 
(1) 3872 cm2 (2) 4872 cm2

(3) 3782 cm2 (4) None of these 

37. 14 lseh- vk/kkj okys ,d flysUMj ftldh f=T;k 14 lseh- ,oa 
Å¡pkbZ 30 lseh- gS rks mldk dqy i`’Bh; {ks=Qy Kkr djsa% 
(1) 3872 lseh-2 (2) 4872 lseh-2

(3) 3782 lseh-2 (4) buesa ls dksbZ ugha 

38. A sum of ` 8,500 is to be divided among 5 men, 6 
women and 8 boys in the ratio of 10:7:1. The 
share of one woman will be: 
(1) ` 85 (2) ` 385 
(3) ` 850 (4) ` 595 

38. ` 8,500 dh ,d jde 5 iq:’kksa 6 efgykvksa ,oa 8 yM+dksa esa 
10:7:1 ds vuqikr esa ck¡Vk tkrk gSA ,d efgyk dk fgLlk D;k 
gksxk% 
(1) ` 85 (2) ` 385 
(3) ` 850 (4) ` 595 

39. The average weight of 8 persons is increased by 
2.5 Kg. This happens when one of the eight who 
weighed 56 Kg is replaced by a new man. The new 
man weighs: 
(1) 61 Kg. (2) 70 Kg. 
(3) 76 Kg. (4) 80 Kg. 

39. vkB O;fä;ksa dh vkSlr Hkkj 2.5 fdyks c<+ tkrh gSA ;g rc gksrk 
gS tc vkB O;fä;ksa esa ls ,d dks ftldk Hkkj 56 fdyks gS] dks 
,d u, O;fä ls çfrLFkkfir fd;k tkrk gSA u;s O;fä dk Hkkj gS% 

(1) 61 Kg. (2) 70 Kg. 
(3) 76 Kg. (4) 80 Kg. 

40. If A = 26, SUN = 27 then CAT = ? 
(1) 24 (2) 57 
(3) 58 (4) None of these 

40. ;fn A = 26, SUN = 27 rks CAT = \ 

(1) 24 (2) 57 
(3) 58 (4) buesa ls dksbZ ugha 

41. Anuraag is 40 m South-West of Vikram. Chiraag is 
40 m South-East of Vikram, then Chiraag is in 
which direction of Anuraag? 
(1) North–East (2) South 
(3) East (4) South–East 

41. vuqjkx foØe ls 40 ehVj nf{k.k&if”pe esa gSA fpjkx foØe 
ls 40 ehVj nf{k.k&iwjc esa gS] rks fpjkx vuqjkx ds fdl fn”kk 
esa gS\ 
(1) mÙkj&iwjc (2) nf{k.k 
(3) iwjc (4) nf{k.k&iwjc 

42. In a certain code, BRAIN is written as  ∗ % ÷ # × 
and TEAR is written as  + $ ÷ % . How is NEAR 
written in that code? 

(1) $ × # % (2) ÷ + $ % 
(3) × $ ÷ #  (4) × $ ÷ % 

42. ,d fuf”pr dksM esa BRAIN dks  ∗ % ÷ # ×  fy[kk tkrk gS 
,oa TEAR dks  + $ ÷ %  fy[kk tkrk gSA rks NEAR dks 
mlh dksM esa dSls fy[ksxsa% 

(1) $ × # % (2) ÷ + $ % 
(3) × $ ÷ #  (4) × $ ÷ % 

43. Complete the following series. 
3, __, 17, 24, 31, __, 45, __ 
(1) 10, 36, 50 (2) 10, 37, 56 
(3) 10, 38, 52 (4) None of these 

43. fuEufyf[kr J`a[kyk dks iwjk djsaA  
3, __, 17, 24, 31, __, 45, __ 
(1) 10, 36, 50 (2) 10, 37, 56 
(3) 10, 38, 52 (4) buesa ls dksbZ ugha 

44. How many times from 4 AM to 4 PM the hands of 
clock are at right angles? 
(1) 24 (2) 20 
(3) 22 (4) 18 

44. 4 çkr% ls 4 lk;a ds e/; ?kM+h dh lqb± fdruh ckj ledks.k ij 
gksaxh\ 

(1) 24 (2) 20 
(3) 22 (4) 18 

45. Which of the following diagrams indicates the 
best relation between bakery, cake and biscuit? 

(1)  (2)  

(3)  (4)  

45. fuEufyf[kr esa ls dkSu&lk js[kkfp= csdjh] dsd ,oa fcLdqV ds 
e/; loZJs’B lEcU/k n”kkZrk gS\ 

(1)  (2)  

(3)  (4)  
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TECHNICAL APTITUDE
46. Which one of the following statements is correct? 

Digital modulation techniques are used in satellite 
communication systems since: 
(1) They are easier to handle 
(2) Large bandwidth utilization is possible 
(3) They have a higher spectral efficiency 
(4) They are less prone to interference 

46. fuEu esa ls dkSu&lk dFku lgh gS\ 
mixzg lapkj iz.kkfy;ksa esa vadh; ekMqyu rduhdksa dk iz;ksx 
fd;k tkrk gS D;ksafd% 
(1) mUgsa laHkkyuk vklku gksrk gS 
(2) fo”kky cSaM pkSM+kbZ dk iz;ksx laHko gksrk gS 
(3) muesa mPprj LisDVªeh izHkkfork gksrh gS 
(4) muesa O;frdj.k dh laHkkouk de gksrh gS 

47. How many bits are required to encode 32 level 
PCM: 
(1) 6 (2) 5 (3) 4 (4) 3 

47. 32 Lrjh; PCM ds dksMu ds fy, fdrus fcVksa dh t:jr 
gksrh gS\ 
(1) 6 (2) 5 (3) 4 (4) 3 

48. The noise is more dominant in which of the following: 
(1) PAM (2) PWM (3) PPM (4) FSK 

48. fuEu esa ls fdlesa jo vf/kd izcy gksrk gS\ 
(1) PAM (2) PWM (3) PPM (4) FSK 

49. The phase velocity of wave propagating in a 
hollow metal wave guide is: 
(1) Greater than the velocity of the light in free space 
(2) Less than the velocity of the light in free space 
(3) Equal to the velocity of the light in free space 
(4) Equal to the group velocity 

49. [kks[kys /kkrq rjax iFkd esa lapfjr rjax dk dyk osx gksrk gS% 
(1) eqDr varfj{k esa izdk”k ds osx ls vf/kd 
(2) eqDr varfj{k esa izdk”k ds osx ls de 
(3) eqDr varfj{k esa izdk”k ds osx ds cjkcj 
(4) lewg osx ds cjkcj 

50. The magnitude of the open-circuit and short circuit 
input impedance of a transmission line are 100 ohm 
and 25 ohm respectively. The characteristic impedance 
of line is: 
(1) 25 ohm (2) 50 ohm 
(3) 75 ohm (4) 100 ohm 

50. ,d lapj.k ykbu ds eqDr&ifjiFk vkSj y?kq ifjiFk fuos”k 
izfrck/kk dk ifjek.k Øe”k% 100 ohm rFkk 25 ohm gSA 
ykbu dh vfHky{kf.kd izfrck/kk gS% 
(1) 25 ohm (2) 50 ohm 
(3) 75 ohm (4) 100 ohm 

51. The line of sight communication requires transmit 
and receive antenna to face each other. If the 
transmit antenna is vertically polarized, for the 
best reception the receive antenna should be: 
(1) Horizontally polarized 
(2) Vertically polarized 
(3) At 45° with respect to the horizontal polarization 
(4) At 45° with respect to the vertical polarization 

51. n”kZ lapkj dh ykbu ds fy, lapj.k vkSj izkid ,saVhuk 
,d&nwljs ds vkeus&lkeus gksus t:jh gSaA ;fn lapj.k ,saVhuk 
Å/okZ/kj :i ls /kzqohd`r gks tkrk gS rks loksZRre vfHkxzg.k ds 
fy, izkid ,saVhuk gksuk pkfg,% 
(1) {kSfrt :i ls /kqzohd`r 
(2) Å/okZ/kj :i ls /kqzohd`r 
(3) {kSfrt /kqzohdj.k ds izfr 45° ij 
(4) Å/okZ/kj /kqzohdj.k ds izfr 45° ij 

52. A network contains linear resistance and ideal 
voltage source. If the value of all the resistors are 
doubled, then the voltage across each resistor is: 
(1) Halved (2) Doubled 
(3) Increased by four times (4) Not changed 

52. ,d usVodZ esa jSf[kd izfrjks/k vkSj vkn”kZ oksYVrk lzksr gSA ;fn 
lHkh izfrjks/kdksa dk eku nqxquk dj fn;k tk, rks izR;sd 
izfrjks/kd ds vkjikj oksYVrk% 
(1) vk/kh gks tkrh gS (2) nqxquh gks tkrh gS 
(3) pkj xquk c<+ tkrh gS (4) dksbZ ifjorZu ugha gksrk 

53. Twelve 1 ohm resistances are used as edge to 
form a cube. The resistance between two 
diagonally opposite corners of the cube is: 
(1) 5/6 ohm (2) 1 ohm 
(3) 6/5 ohm (4) 3/2 ohm 

53. ,d ?ku cukus ds fy, dksj ds :i esa ckjg 1 ohm izfrjks/kdksa 
dk iz;ksx fd;k tkrk gSA ?ku ds nks fod.kZr% izfrdwy fdukjksa ds 
chp izfrjks/k gS% 
(1) 5/6 ohm (2) 1 ohm 
(3) 6/5 ohm (4) 3/2 ohm 

54. An eight bit digital data 10101100 is fed to an 
ADC. The reference voltage is +10V. The analog 
output voltage will be: 
(1) 1.05V (2) 6.74V 
(3) 10.10V (4) 5.15V 

54. ,d vkB fcV vadh; MkVk 10101100 ,d ADC esa laHkfjr 
fd;k tkrk gSA funsZ”k oksYVrk +10V gSA vuq:i fuxZe oksYVrk 
gksxh% 
(1) 1.05V (2) 6.74V 
(3) 10.10V (4) 5.15V 
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55. A series RLC circuit has a resonant frequency of 1 
KHz and a quality factor Q = 100. If each of the R,L 
and C is doubled from its original value, the new 
Q of the circuit is: 
(1) 25 (2) 50 
(3) 100 (4) 200 

55. ,d Js.kh RLC ifjiFk dh vuquknh vko`fRr 1 KHz vkSj 
xq.krk dkjd Q = 100 gSA ;fn R, L rFkk C esa ls izR;sd dks 
mlds ewy eku ls nqxquk dj fn;k tkrk gS rks ifjiFk dk u;k 
Q gS% 
(1) 25 (2) 50 
(3) 100 (4) 200 

56. The input to a coherent detector is DSB-SC signal 
plus noise. The noise at the detector output is: 
(1) The in-phase component 
(2) The quadrature-component 
(3) Zero 
(4) The envelope 

56. lalDr lalwpd dk bUiqV gS DSB-SC ladsr tek joA lalwpd 
fuxZe ij jo gS% 
(1) var%dyk ?kVd 
(2) DokMjspj&?kVd 
(3) “kwU; 
(4) vUokyksi 

57. Gunn diode is a: 
(1) Negative resistance device 
(2) Positive resistance device 
(3) High noise device 
(4) Low frequency device 

57. xu Mk;ksM gksrk gS ,d% 
(1) _.kkRed izfrjks/k midj.k 
(2) /kukRed izfrjks/k midj.k 
(3) mPp jo midj.k 
(4) U;wu vko`fRr midj.k 

58. The intrinsic carrier concentration of silicon 
sample at 300° K is 2.5×1016/m3. If after doping, 
the number of majority carriers is 5×1020 /m3, the 
minority carrier density is: 
(1) 1.25×1012/m3 (2) 0.125×1012/m3

(3) 2.5×1020/m3 (4) 0.5×104/m3

58. 300° K ij flyhdkWu izn”kZ dk vkH;arj okgd ladsUnz.k 
2.5×1016/m3 gSA ;fn eknu ds ckn cgqla[;d okgdksa dh 
la[;k 5×1020 /m3 gS rks vYila[;d okgd ?kuRo gS% 
(1) 1.25×1012/m3 (2) 0.125×1012/m3

(3) 2.5×1020/m3 (4) 0.5×104/m3

59. The unit of ∇× H is: 
(1) Ampere (2) Ampere/meter 
(3) Ampere/meter2 (4) Ampere-meter 

59. ∇ × H dh bdkbZ gS% 
(1) ,sEih;j (2) ,sEih;j@ehVj 
(3) ,sEih;j@ehVj2 (4) ,sEih;j&ehVj 

60. A PIN diode is: 
(1) A metal semiconductor point-contact diode 
(2) A microwave mixer diode 
(3) Often used as a microwave detector 
(4) Suitable for use as a microwave switch 

60. PIN Mk;ksM gksrk gS% 
(1) ,d /kkrq v)Zpkyd fcanq&laidZ Mk;ksM 
(2) ,d lw{erjax ;kstd Mk;ksM 
(3) vDlj ,d lw{erjax lalwpd ds :i esa iz;qDr 
(4) ,d lw{erjax ds :i esa iz;ksx ds fy, mi;qDr 

61. 11001, 1001 and 111001 correspond to the 2’s 
complement representation of which one of the 
following sets of number? 
(1) 25, 9 and 57 respectively 
(2) –6, –6 and –6 respectively 
(3) –7, –7 and –7 respectively 
(4) –25, –9 and –57 respectively 

61. 11001, 1001 rFkk 111001 la[;kvksa ds fuEu esa ls dkSu&ls 
lsV ds 2’s iwjd fu:i.k ds vuq:i gS\ 
(1) Øe”k% 25, 9 rFkk 57 
(2) Øe”k% –6, –6 rFkk –6 
(3) Øe”k% –7, –7 rFkk –7 
(4) Øe”k% –25, –9 rFkk –57 

62. To couple a coaxial line to a parallel wire line, it is 
best to use a: 
(1) A slotted line 
(2) Balun 
(3) Directional coupler 
(4) Quarter wave line transformer 

62. ,d lek{k ykbu dks ,d lekukarj rkj ykbu ds lkFk ;qfXer 
djus ds fy, fuEu dk iz;ksx djuk loksZRre gS% 
(1) [kkapsnkj ykbu 
(2) cSywu 
(3) funs”kkRed ;qXed 
(4) DokVZj rjax ykbu VªkalQkeZj 

63. Which of the following is used extensively where 
lowest power consumption is necessary? 
(1) CMOS (2) NMOS 
(3) PMOS (4) Any of the above 

63. tgka U;wure ÅtkZ [kir t:jh gksrh gS] fuEu esa ls fdldk 
O;kid :i ls iz;ksx fd;k tkrk gS\ 
(1) CMOS (2) NMOS 
(3) PMOS (4) buesa ls dksbZ ,d 
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64. Reflex klystron is a: 
(1) Low power generator (2) High power oscillator 
(3) Low gain amplifier (4) Not an oscillator 

64. fj¶ysDl fDyLVªksu gksrk gS ,d% 
(1) de “kfDr dk tsujsVj (2) mPp “kfDr dk nksfy= 
(3) U;wu yfC/k ,sEIyhQk;j (4) ,d nksfy= ugha 

65. If the radiated power of AM transmitter is 10 KW, 
the power in the carrier for modulation index of 
0.6 is nearly: 
(1) 8.24 KW (2) 9.26 KW 
(3) 8.47 KW (4) 9.6 KW 

65. ;fn AM VªkalehVj dh fodfjr fo|qr 10 KW gS rks 0.6 ds 
ekMqyu lwpdkad ds fy, okgd esa fo|qr gS yxHkx% 
(1) 8.24 KW (2) 9.26 KW 
(3) 8.47 KW (4) 9.6 KW 

66. The current through 8 ohms branch is: 

8 ohm

5 ohm

10 ohm

2 ohm

10 ohm
10V

 
(1) 1A (2) 0.5A 
(3) 1.5A (4) None of these 

66. 8 ohms “kk[kk ds ek/;e ls /kkjk gS% 

8 ohm

5 ohm

10 ohm

2 ohm

10 ohm
10V

 
(1) 1A (2) 0.5A 
(3) 1.5A (4) buesa ls dksbZ ugha 

67. JFET in properly biased condition acts as a: 
(1) Current controlled current source 
(2) Voltage controlled voltage source 
(3) Voltage controlled current source 
(4) Impedance controlled current source 

67. leqfpr :i ls ck;flr fLFkfr esa JFET fuEu :i esa dke 
djrk gS% 
(1) /kkjk fu;af=r /kkjk lzksr 
(2) oksYVrk fu;af=r oksYVrk lzksr 
(3) oksYVRkk fu;af=r /kkjk lzksr 
(4) izfrck/kk fu;af=r /kkjk lzksr 

68. The circuit shown in figure is best described as a: 

 
(1) Bridge rectifier (2) Ring modulator 
(3) Frequency discriminatory (4) Voltage doubler 

68. uhps n”kkZ;k x;k ifjiFk fuEu :i esa loksZRre :i ls ifjHkkf’kr 
fd;k tkrk gS% 

 
(1) lsrq fn’Vdkjh (2) lsrq ekMqyd 
(3) vko`fRr foHksnd (4) oksYVrk f}xq.kd 

69. Which amplifier will be preferred for highest gain? 
(1) Darlington pair 
(2) Cascade amplifier 
(3) Cascode amplifier 
(4) Depends on the circuitry 

69. loksZRre yfC/k ds fy, dkSu&ls ,sEIyhQk;j dks ojh;rk nh tk,xh\ 
(1) MkfyZaXVu ;qXe 
(2) lksikuh ,sEIyhQk;j 
(3) dSLdksM ,sEIyhQk;j 
(4) ifjifFkdh ij fuHkZj djrk gS 

70. The Boolean expression for the truth table shown is: 
A B C f 
0 0 0 0 
0 0 1 0 
0 1 0 0 
0 1 1 1 
1 0 0 0 
1 0 1 0 
1 1 0 1 
1 1 1 0 

(1) )CA)(CA(B ++  (2) )CA)(CA(B ++  

(3) )CA)(CA(B ++  (4) )CA)(CA(B ++  

70. n”kkZbZ xbZ lR;eku lkj.kh ds fy, cwyh; vfHkO;fDr gS% 
A B C f 
0 0 0 0 
0 0 1 0 
0 1 0 0 
0 1 1 1 
1 0 0 0 
1 0 1 0 
1 1 0 1 
1 1 1 0 

(1) )CA)(CA(B ++  (2) )CA)(CA(B ++  

(3) )CA)(CA(B ++  (4) )CA)(CA(B ++  
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71. Without any additional circuitry, an 8:1 MUX can 
be used to obtain: 
(1) Some but not all Boolean functions of 3 variables 
(2) All function of 3 variables but none of 4 variables 
(3) All functions of 3 variables and some but not all 

of 4 variables 
(4) All functions of 4 variables 

71. fdlh vfrfjDr ifjifFkdh ds fcuk] 8:1 MUX dk iz;ksx fuEu 
izkIr djus ds fy, fd;k tk ldrk gS% 
(1) 3 pjksa ds dqN fdarq lHkh cwyh; Qyu ugha 
(2) 3 pjksa ds lHkh Qyu ysfdu 4 pjksa dk dksbZ ugha 
(3) 3 pjksa ds lHkh Qyu vkSj 4 pjksa ds dqN fdarq lHkh ugha 
(4) 4 pjksa ds lHkh Qyu 

72. The resolution of a potentiometer should be: 
(1) Zero (2) Low 
(3) High (4) Infinite 

72. foHkoekih dk fo;kstu gksuk pkfg,% 
(1) “kwU; (2) U;wu 
(3) mPp (4) vuar 

73. Negative feedback in amplifier: 
(1) Improves the SNR at input 
(2) Improve SNR at output 
(3) Reduces distortion 
(4) Decreases bandwidth 

73. ,sEIyhQk;j esa _.kkRed iquHkZj.k% 
(1) fuos”k ij SNR esa lq/kkj ykrk gS 
(2) fuxZe ij SNR esa lq/kkj ykrk gS 
(3) fo:i.k de djrk gS 
(4) cSaM pkSM+kbZ ?kVkrk gS 

74. Spectral density expresses: 
(1) Average voltage  
(2) Average current 
(3) Average power in a waveform as a function of 

frequency 
(4) None of these 

74. LisDVªeh ?kuRo O;Dr djrk gS% 
(1) vkSlr oksYVrk 
(2) vkSlr /kkjk 
(3) vko`fRr ds ,d Qyu ds :i esa rjax :i esa vkSlr fo|qr 
(4) buesa ls dksbZ ugha 

75. Which of the following is used as a data selector? 
(1) Encoder (2) Decoder 
(3) Multiplexer (4) De-multiplexer 

75. fuEu esa ls fdldk iz;ksx MkVk ofj= ds :i esa fd;k tkrk gS\ 
(1) dksfM= (2) fodksMd 
(3) cgqladsrd (4) f}&cgqladsrd 

76. If a signal x(n)=x(–n), then it is called ____ signal: 
(1) Odd (2) Energy 
(3) Power (4) Even 

76. ;fn dksbZ ladsr x(n)=x(–n) gS rks ;g ___ ladsr dgykrk gS% 
(1) fo’ke (2) ÅtkZ 
(3) fo|qr (4) le 

77. The response of an LTI/LSI system is given by the 
_______ of input and impulse response: 
(1) Convolution (2) Correlation 
(3) Superposition (4) None 

77. LTI/LSI iz.kkyh dh vuqfØ;k fuos”k ds_______ rFkk vkosx 
vuqfØ;k ls izkIr gksrh gS% 
(1) laoyu (2) lglaca/k 
(3) v/;kjksi.k (4) dksbZ ugha 

78. Companders are used in communication systems 
to: 
(1) Compress bandwidth 
(2) To improve frequency response  
(3) To improve signal to noise ratio 
(4) None of these 

78. lapkj iz.kkfy;ksa esa daiS.Mjksa dk iz;ksx fuEu ds fy, fd;k tkrk 
gS% 
(1) cSaM dh pkSM+kbZ laihfM+r djuk 
(2) vko`fRr vuqfØ;k esa lq/kkj ykuk 
(3) ladsr jo vuqikr esa lq/kkj ykuk 
(4) buesa ls dksbZ ugha 

79. ICB0 in a transistor can be reduced by reducing: 
(1) IB (2) VCC 
(3) IE (4) Temperature 

79. VªkaftLVj esa ICB0 dks fuEu ?kVkdj de fd;k tk ldrk gS% 
(1) IB (2) VCC 
(3) IE (4) rkieku 

80. Light is confined within the core of a simple 
optical fiber by: 
(1) Refraction. 
(2) Total internal reflection at the outer edge of the 

cladding. 
(3) Total internal reflection at the core cladding 

boundary. 
(4) Reflection from the fiber's plastic coating. 

80. izdk”k fuEu }kjk ,d ljy izdk”kh; Qkbcj dh dksj ds Hkhrj 
lhfer jgrk gS% 
(1) viorZu }kjk 
(2) ifjfu/kku ds ckgjh fdukjs ij dqy vkarfjd ijkorZu 
(3) dksj ifjfu/kku lhek ij dqy vkarfjd ijkorZu 
(4) Qkbcj dh IykfLVd dksfVax ls fj¶ysD”ku 
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81. The complement of AB+BC’+CD’ is: 
(1) A’CD+B’C’+B’D (2) A’C’+BC+AB’D’ 
(3) AC+BC+ABD (4) A’C’+B’C’+A’B’D’ 

81. AB+BC’+CD’ dk iwjd gS% 
(1) A’CD+B’C’+B’D (2) A’C’+BC+AB’D’ 
(3) AC+BC+ABD (4) A’C’+B’C’+A’B’D’ 

82. The following expression when simplified will 
become XY(X’YZ +X’Y’Z’+XY’Z) 
(1) 0 (2) 1 
(3) –1 (4) X 

82. fuEu vfHkO;fDr XY(X’YZ +X’Y’Z’+XY’Z) ljyhd`r fd, 
tkus ij cu tk,xh% 
(1) 0 (2) 1 
(3) –1 (4) X 

83. In a PCM system of telemetry, the quantization 
noise depends on: 
(1) The sampling rate and quantization level 
(2) The sampling rate only 
(3) The number of quantization level 
(4) Information provided is not sufficient 

83. nwjfefr dh PCM iz.kkyh esa DokaVehdj.k jo fuEu ij fuHkZj 
djrk gS% 
(1) izfrp;u nj rFkk DokaVehdj.k Lrj 
(2) dsoy izfrp;u nj 
(3) DokaVehdj.k Lrj dh la[;k 
(4) miyC/k djkbZ xbZ tkudkjh i;kZIr ugha gS 

84. In PCM system, if we increase the quantization 
levels from 2 to 8, the relative bandwidth 
requirements will: 
(1) Be doubled (2) Remain same 
(3) Be tripled (4) Becomes eight times 

84. PCM iz.kkyh esa ;fn ge DokaVehdj.k Lrj 2 ls c<+kdj 8 dj 
nsa] rks lkis{k cSaM dh pkSM+kbZ dh t:jr% 
(1) nqxquh gks tk,xh (2) iwoZor jgsxh 
(3) frxquh gks tk,xh (4) 8 xquk gks tk,xh 

85. The modulation system inherently most noise 
resistant is: 
(1) Frequency modulation 
(2) Pulse width modulation 
(3) Pulse code modulation 
(4) Phase modulation 

85. ,slh ekMqyu iz.kkyh tks varfuZ’B :i ls lokZf/kd jo fojks/kh gS] 
gS% 
(1) vko`fRr ekMqyu 
(2) Lian dkykof/k ekMqyu 
(3) Lian dksM ekMqyu 
(4) dyk ekMqyu 

86. Which of the following microphone does not 
require polarizing current? 
(1) Crystal microphone 
(2) Condenser microphone 
(3) Carbon microphone 
(4) All of the above 

86. fuEu esa ls dkSu ls ekbØksQksu dks /kzqodkjh /kkjk dh t:jr ugha 
gksrh\ 
(1) fØLVy ekbØksQksu 
(2) laxzkgh ekbØksQksu 
(3) dkcZu ekbØksQksu 
(4) mi;qZDr lHkh 

87. The large signal bandwidth of an opamp is limited 
by its: 
(1) Loop gain (2) Slew rate 
(3) Output impedance (4) Input frequency 

87. OPmap dh fo”kky ladsr cSaM dh pkSM+kbZ bldh fuEu }kjk 
lhfer gksrh gS% 
(1) ik”k yfC/k (2) nzqr ?kw.kZu xfr 
(3) fuxZe izfrck/kk (4) fuos”k vko`fRr 

88. In an unclocked R-S flip flop made of NOR gates, 
the forbidden input condition is: 
(1) R=0, S=0 (2) R=1, S=0 
(3) R=0, S=1 (4) R=1, S=1 

88. NOR }kjksa ls fufeZr forkyfdr R-S f¶yi¶yki esa] fuf’k) 
vkos”k “krZ gS% 
(1) R=0, S=0 (2) R=1, S=0 
(3) R=0, S=1 (4) R=1, S=1 

89. A phase-locked loop (PLL) is a feedback circuit 
consisting of a: 
(1) Phase detector. (2) Low-pass filter. 
(3) VCO. (4) All of these 

89. ,d dyk&vfHkcaf/kr ik”k (ih,y,y) fuEu ls ;qDr ,d iquHkZj.k 
ifjiFk gS% 
(1) dyk lalwpd (2) fuEu vko`fRr fQYVj 
(3) VCO (4) buesa ls lHkh 

90. A 339 IC is an example of a fourteen-pin DIP that 
can be made to function as a ________: 
(1) Comparator 
(2) 555 timer 
(3) D to A converter 
(4) Ladder network 

90. ,d 339 IC ,sls pkSng&fiu DIP dk mnkgj.k gS ftlls--------
-----ds :i esa dk;Z djk;k tk ldrk gS% 
(1) rqyfu= 
(2) 555 Vkbej 
(3) D ls A ifjorZd 
(4) ySMj usVodZ 
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91. Filters with the ___ characteristic are useful when 
a rapid roll-off is required because it provides a 
roll-off rate greater than –20/dB/decade/pole: 
(1) Butterworth (2) Chebyshev 
(3) Bessel (4) Elliptical 

91. ------- vfHky{k.k ls ;qDr fQYVj ml le; mi;ksxh gksrs gSa tc 
Rofjr jksy&vkQ dh t:jr gksrh gS D;ksafd ;g
–20/dB/decade/pole ls mPprj jksy&vkQ nj iznku djrs gSa% 
(1) cV~VjoFkZ (2) “kSfo”kso 
(3) csly (4) nh?kZo`Rrh; 

92. Which of the following applications include a 
phase-locked loop (PLL) circuit? 
(1) Modems (2) AM decoders 
(3) Tracking filters (4) All of these 

92. fuEu vuqiz;ksxksa esa ls fdlesa ,d dyk&vfHkcaf/kr ik”k 
¼ih,y,y½ ifjiFk “kkfey gS\ 
(1) eksMse (2) ,,e fodksMd 
(3) vuqorZd fQYVj (4) ;s lHkh 

93. Rectification efficiency of a fullwave rectifier 
without filter is nearly equals to: 
(1) 51% (2) 61% 
(3) 71% (4) 81% 

93. fQYVj ds fcuk iw.kZ rjax fn’Vdkjh dh fn’Vdj.k izHkkfork 
yxHkx fuEu ds cjkcj gksrh gS% 
(1) 51% (2) 61% 
(3) 71% (4) 81% 

94. What is the voltage resolution of an 8-stage ladder 
network? 
(1) Vref /128 (2) Vref /256 
(3) Vref /512 (4) Vref /1024 

94. 8&Lrjh; ySMj usVodZ dk oksYVrk fo;kstu D;k gS\ 
(1) Vref /128 (2) Vref /256 
(3) Vref /512 (4) Vref /1024 

95. In which region is the operating point stable in 
tunnel diodes? 
(1) Negative-resistance 
(2) Positive-resistance 
(3) Both negative- and positive-resistance 
(4) Neither negative- nor positive-resistance 

95. Vuy Mk;ksMksa esa dkSu&ls {ks= esa izpkyu fcanq fLFkj gksrk gS\ 
(1) _.kkRed izfrjks/k 
(2) /kukRed izfrjks/k 
(3) _.kkRed rFkk /kukRed izfrjks/k & nksuksa 
(4) u _.kkRed u /kukRed izfrjks/k 

96. Which of the following diodes is limited to the 
reverse-bias region in its region of operation? 
(1) Schottky (2) Tunnel 
(3) Photodiode (4) Rectifier 

96. fuEu Mk;ksMksa esa ls dkSu&lk Mk;ksM vius izpkyu ds {ks= esa 
i”pfnf”kd ck;l {ks= rd lhfer jgrk gS\ 
(1) “kkVdh (2) Vuy 
(3) QksVksMk;ksM (4) fn’Vdkjh 

97. Which of the following semiconductor materials is 
(are) used for manufacturing solar cells? 
(1) Gallium arsenide (2) Indium arsenide 
(3) Cadmium sulfide (4) All of these 

97. lkSj lsyksa dk fofuekZ.k djus ds fy, fuEu esa ls dkSu&lh 
v)Zpkyd lkefxz;ksa dk iz;ksx fd;k tkrk gS\ 
(1) xSfy;e vklsZukbM (2) bafM;e vklsZukbM 
(3) dSMfe;e lYQkbZ (4) ;s lHkh 

98. If 
s

1s)S(Y
2 +

= , the network has: 

(1) 1 H inductor and 1 F capacitor in parallel 
(2) 1 H inductor and 1 F capacitor in series 
(3) 1 H inductor and 1 Ω resistor in series 
(4) 1 H inductor and 1 Ω resistor in parallel 

98. ;fn 
s

1s)S(Y
2 +

= gS rks usVodZ esa gS% 

(1) 1 H izsjd vkSj 1 F la/kkfj= lekukarj esa 
(2) 1 H izsjd vkSj 1 F la/kkfj= Js.kh esa 
(3) 1 H izsjd vkSj 1 Ω izfrjks/kd Js.kh esa 
(4) 1 H izsjd vkSj 1 Ω izfrjks/kd lekukarj esa 

99. When the temperature of a doped semiconductor 
is increased, its conductivity 
(1) Decreases 
(2) Increases 
(3) Does not change 
(4) Increases or decreases depending on whether it 

is p-type or n-type 

99. tc ekfnr v)Zpkyd dk rkieku c<+k;k tkrk gS rks bldh 
pkydrk% 
(1) ?kVrh gS 
(2) c<+rh gS 
(3) dksbZ cnyko ugha vkrk 
(4) D;k ;g p-dksfV gS vFkok n-dksfV gS & bl ij fuHkZj 

djrs gq, c<+rh vFkok ?kVrh gS 

100. Schering bridge is used to measure 
(1) Frequency (2) Inductance 
(3) Capacitance (4) Mutual Inductance 

100. “ksfjax lsrq dk iz;ksx fuEu ekius ds fy, fd;k tkrk gS% 
(1) vko`fRr (2) izsjdRo 
(3) /kkfjrk (4) ikjLifjd izsjdRo 
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101. A step voltage E is applied to a series R-L circuit. 
The rate of change of current is maximum at t = _: 
(1) Zero (2) Infinity 
(3) L/R (4) R/L 

101. ,d Js.kh R-L ifjiFk ij ,d lksiku oksYVrk E dk vuqiz;ksx 
fd;k tkrk gSA /kkjk ds ifjorZu dh nj t = _ ij vf/kdre gS% 
(1) “kwU; (2) vuar 
(3) L/R (4) R/L 

102. PLAs, CPLDs, and FPGAs are all which type of device? 
(1) SLD (2) PLD 
(3) EPROM (4) SRAM 

102. PLAs, CPLDs, rFkk FPGA & lHkh fdl dksfV ds midj.k gSa\ 
(1) SLD (2) PLD 
(3) EPROM (4) SRAM 

103. Holding current for an SCR is best described as: 
(1) The minimum current required for turn-off 
(2) The current required before an SCR will turn on 
(3) The amount of current required to maintain 

conduction 
(4) The gate current required to maintain conduction 

103. SCR ds fy, /kkjk /kkfjr djus dk loksZRre :i ls o.kZu 
fuEukuqlkj gS% 
(1) can djus ds fy, visf{kr U;wure /kkjk 
(2) SCR dks pkyw fd, tkus ls iwoZ visf{kr /kkjk 
(3) pkyu cuk, j[kus ds fy, visf{kr /kkjk dh ek=k 
(4) pkyu cuk, j[kus ds fy, visf{kr }kj /kkjk 

104. What type of temperature coefficient do 
thermistors have? 
(1) Positive (2) Negative 
(3) Either positive or negative (4) None of these 

104. Å’e izfrjksf/k;ksa esa fdl izdkj dk rki xq.kkad gksrk gS\ 
(1) /kukRed (2) _.kkRed 
(3) /kukRed vFkok _.kkRed (4) buesa ls dksbZ ugha 

105. In a microprocessor: 
(1) One machine cycle is equal to one clock cycle 
(2) One clock cycle consists of several machine cycles 
(3) One machine cycle consists of several clock cycles 
(4) One machine cycle is always less than one clock cycle 

105. ekbØksizkslslj esa% 
(1) ,d ;a= pØ ,d dkyn pØ ds lerqY; gksrk gS 
(2) ,d dkyn pØ esa vusd ;a= pØ gksrs gSa 
(3) ,d ;a= pØ esa vusd dkyn pØ gksrs gSa 
(4) ,d ;a= pØ lnSo ,d dkyn pØ ls de gksrk gS 

106. In 8085 microprocessor with memory mapped I/O 
which of the following is true? 
(1) I/O devices have 16 bit addresses 
(2) I/O devices are accessed during IN and OUT 

instructions 
(3) There can be a maximum of 256 input and 256 

output devices 
(4) Logic operations can not be performed 

106. Le`fr izfrfpf=r I/O ls ;qDr 8085 ekbØksizkslslj esa fuEu esa 
ls dkSu lgh gS\ 
(1) I/O midj.kksa esa 16 fcV irs gksrs gSa 
(2) I/O midj.kksa rd IN rFkk OUT vuqns”kksa ds nkSjku igqapk 

tk ldrk gS 
(3) vf/kd ls vf/kd 256 fuos”k vkSj 256 fuxZe midj.k gks 

ldrs gSa 
(4) rdZ izpkyu fu’ikfnr ugha fd, tk ldrs 

107. A blank EPROM has: 
(1) All bits set to logical 0 
(2) All bits set to logical 1 
(3) Half the total number of bits set to 0 and 

remaining half to logical 1 
(4) Either (1) or (2) 

107. ,d fjDr EPROM esa gksrs gSa% 
(1) rdZlaxr 0 ds izfr funsZf”kr lHkh fcV 
(2) rdZlaxr 1 ds izfr funsZf”kr lHkh fcV 
(3) dqy fcVksa esa ls vk/ks 0 ds izfr rFkk “ks’k vk/ks rdZlaxr 1 

ds izfr 
(4) (1) vFkok (2) 

108. One application of a digital multiplexer is to 
facilitate: 
(1) Code conversion 
(2) Parity checking 
(3) Parallel-to-serial data conversion 
(4) Data generation 

108. vadh; cgqladsrd dk ,d vuqiz;ksx fuEu dks lqfo/kkiw.kZ cukuk 
gS% 
(1) dksM :ikarj.k 
(2) lerk tkap 
(3) ;qxir vuqØeh :ikarfj= 
(4) MkVk tuu 

109. The coefficient of coupling between two coils is 
0.45. The first coil has an inductance of 75 mH 
and the second coil has an inductance of 105 mH. 
What is the mutual inductance between the coils? 
(1) 3.54 mH (2) 7.88 mH 
(3) 39.9 mH (4) 189.3 mH 

109. nks dk;yksa ds chp ;qXeu dk xq.kkad 0.45 gSA igys dk;y dk 
izsjdRo 75 mH gS vkSj nwljs dk;y dk izsjdRo 105 mH gSA 
dk;yksa ds chp ikjLifjd izsjdRo fdruk gS\ 
(1) 3.54 mH (2) 7.88 mH 
(3) 39.9 mH (4) 189.3 mH 
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110. The fast carry or look-ahead carry circuits found 
in most 4-bit parallel-adder circuits: 
(1) Increase ripple delay 
(2) Add a 1 to complemented inputs 
(3) Reduce propagation delay 
(4) Determine sign and magnitude 

110. vf/kdka”k 4&fcV lekukarj&ladyd ifjiFkksa esa ik, tkus okys 
nzqr okgu vFkok vxzkoyksdu gLrxr ifjiFk% 
(1) ÅfeZdk foyac c<+k nsrs gSa 
(2) iwfjr fuos”kksa esa 1 tksM+ nsrs gSa 
(3) lapj.k foyac ?kVk nsrs gSa 
(4) fpg~u vkSj ifjek.k fu/kkZfjr djrs gSa 

111. To multiply a number by 8 in 8085 we have to use 
RAL instruction: 
(1) Once (2) Twice 
(3) Thrice (4) Four times 

111. 8085 esa fdlh la[;k dks 8 ls xq.kk djus ds fy, gesa RAL 
vuqns”k dk iz;ksx djus dh t:jr gksrh gS% 
(1) ,d ckj (2) nks ckj 
(3) rhu ckj (4) pkj ckj 

112. An energy signal has G(f) = 10. Its energy density 
spectrum is: 
(1) 10 (2) 100 
(3) 50 (4) 20 

112. ,d ÅtkZ ladsr dk G(f) = 10 gSA bldk ÅtkZ ?kuRo LisDVªe 
gS% 
(1) 10 (2) 100 
(3) 50 (4) 20 

113. Feedback factor at the frequency of oscillation of 
a Wien bridge oscillator is: 
(1) 3 (2) 1/3 
(3) 1/29 (4) 3/29 

113. fo;u lsrq nksfy= ds nksyu dh vko`fRr ij iquHkZj.k dkjd gS% 
(1) 3 (2) 1/3 
(3) 1/29 (4) 3/29 

114. A 4-bit R/2R digital-to-analog (DAC) converter has 
a reference of 5 volts. What is the analog output 
for the input code 1010: 
(1) 0.3125 V (2) 3.125 V 
(3) 0.78125 V (4) –3.125 V 

114. ,d 4&fcV R/2R vad ls vuq:i :ikarfj= ¼Mh,lh½ dk 5 
oksYV dk lanHkZ gSA fuos”k dksM 1010 ds fy, vuq:i fuxZe 
D;k gS\ 
(1) 0.3125 V (2) 3.125 V 
(3) 0.78125 V (4) –3.125 V 

115. A quarter wave line open circuited at far end 
behaves as: 
(1) Inductance (2) L and C in parallel 
(3) Capacitance (4) L and C in series 

115. nwjLFk fdukjs ij eqDr ifjifFkr prqFkkZa”k rjax fuEu :i esa 
O;ogkj djrh gS% 
(1) izsjdRo (2) L rFkk C lekukarj esa 
(3) /kkfjrk (4) L rFkk C Js.kh esa 

116. In a directional coupler: 
(1) Isolation (dB) equals coupling plus directivity 
(2) Coupling (dB) equals isolation plus directivity 
(3) Directivity (dB) equals isolation plus coupling 
(4) Isolation (dB) equals (coupling) (directivity) 

116. funsZ”kkRed ;qXed esa% 
(1) fo;kstu (dB) ;qXeu tek fnf”kdrk ds cjkcj gksrk gS 
(2) ;qXeu (dB) fo;kstu tek fnf”kdrk ds cjkcj gksrk gS 
(3) fnf”kdrk (dB) fo;kstu tek ;qXeu ds cjkcj gksrk gS 
(4) fo;kstu (dB) ¼;qXeu½ ¼fnf”kdrk½ ds cjkcj gksrk gS 

117. In a circular waveguide the dominant mode is: 
(1) TE01 (2) TE11

(3) TE20 (4) TE21

117. ,d o`Rrkdkj rjaxiFkd esa] izHkkoh fo/kk gS% 
(1) TE01 (2) TE11

(3) TE20 (4) TE21

118. In a klystron amplifier the input cavity is called: 
(1) Buncher (2) Catcher 
(3) Pierce gun (4) Collector 

118. fDyLVªksu ,sEIyhQk;j esa] fuos”k xqfgdk dgykrh gS% 
(1) capj (2) izxzkgh 
(3) laos/ku xu (4) laxzkgh 

119. A loss less line of characteristic impedance Z0 is 
terminated in pure reactance of –jZ0 value. VSWR is 
(1) 10 (2) 2 
(3) 1 (4) Infinity 

119. ,d vfHky{kf.kd izfrck/kk Z0 dh gkfufoghu ykbu –jZ0 eku 
ds “kq) izfr?kkr ij vard gks xbZA VSWR gS% 
(1) 10 (2) 2 
(3) 1 (4) vuar 

120. The velocity factor of a transmission line depends on: 
(1) Temperature 
(2) Skin effect 
(3) Relative permittivity of dielectric 
(4) None of these 

120. lapj.k ykbu dk osx dkjd fuEu ij fuHkZj djrk gS% 
(1) rkieku 
(2) mifjLrj izHkko 
(3) ijkoS|qr dh lkis{k fo|qr”khyrk 
(4) buesa ls dksbZ ugha 
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egRoiw.kZ%  fuEufyf[kr funsZ'k /;kuiwoZd i<+saA vius ç”uksa ds mÙkj ç”u&iqfLrdk esa u yxk,a vU;Fkk p;u çfØ;k ls vkidh ik=rk oafpr dj nh tk;sxhA 

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa 120 ç'u gSaA çR;sd ç'u iqfLrdk dh 
fljht fHké gksxh ¼ç”u&iqfLrdk dksM la[;k ,oa ç”u&iqfLrdk fljht dk la;kstu½A vkidks OMR mÙkj if=dk ij lgh ç'u&iqfLrdk fljht ,oa 
ç”u&iqfLrdk dksM la[;k fy[kuk gSA iqu% ;g Hkh ij[k ysa fd blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ 
deh gks rks i;Zos{kd dks lwfpr djsa vkSj ç”u&iqfLrdk cnydj ,d u;h iqfLrdk ysaA bl lanHkZ esa fdlh Hkh çdkj dh dksbZ f'kdk;r ij ckn esa dksbZ 
fopkj ugha fd;k tk,xkA 
egRoiw.kZ uksV% vks-,e-vkj- mÙkj if=dk vH;FkÊ ds ç”u&iqfLrdk fljht ,oa ç”u&iqfLrdk dksM la[;k ds la;kstu ls ewY;kafdr dh tk;sxhA vr% vkidks 
vks-,e-vkj- mÙkj if=dk ij lgh ç”u&iqfLrdk fljht ,oa ç”u&iqfLrdk dksM la[;k fy[kuk pkfg,A buesa ls fdlh ,d esa Hkh xyrh gksus ij vkidh 
vks-,e-vkj- mÙkj if=dk fujLr gks ldrh gSA vks-,e-vkj- mÙkj if=dk esa ç”u&iqfLrdk dksM la[;k ,oa ç”u&iqfLrdk fljht ugha Hkjus ij vH;FkÊ ds 
mÙkj if=dk dk ewY;kadu ugha fd;k tk;sxk ftldh ftEesnkjh Lor% vH;FkÊ dh gksxhA 

2. xyr mÙkj ds fy, 1/3 _.kkRed vadu gksxkA çR;sd ç”u ds vad leku gSaA foLr`r tkudkjh ds fy, mÙkj i=d dk voyksdu djsaA 
3. d{k&fujh{kd ls vius ços”k&i= ij gLrk{kj vo”; djok,aA ;fn vkius gLrk{kj ugha djok;k rks vkidh ik=rk jí dj nh tk,xhA 
4. ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (1) ls (4) rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj esa tks Hkh mÙkj 

lgh@loZJs"B gS mldks vks-,e-vkj- mÙkj i= esa fn;s funsZ'k ds vuqlkj fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 
5. vks-,e-vkj- mÙkj if=dk ij lHkh dk;ks± ds fy, uhys@dkys ckWy Iokb±V isu ls fy[ksaA vks-,e-vkj mÙkj if=dk ij vksoy dks iw.kZ :i ls dsoy 

uhys@dkys ckWy Iokb±V isu ls HkjsaA ,d ckj fn, x, mÙkj dks cnyk ugha tk ldrkA 
6. mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 
7. dsYdqysVj] LykbM:y] eksckbZy]  dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk ç;ksx ijh{kk d{k esa oftZr gSA 
8. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,] vks-,e-vkj- mÙkj if=dk ij dksbZ Hkh jQ+ dk;Z u djsaA fdlh vU; dkx+t ij bls 

djus dh vuqefr ugha gSA 
9. ijh{kk dh lekfIr ds i'pkr~ viuh iwjh ç'u&iqfLrdk rFkk mÙkj&if=dk i;Zos{kd dks okil dj nsaA ç'u iqfLrdk ;k blds fdlh Hkkx vFkok OMR 

mÙkj if=dk dks ijh{kk d{k ls ckgj ys tkuk oftZr gS ,slk djuk nUMuh; vijk/k gSA 
10. gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa dksbZ Hkh dfVax ;k 

vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh Hkh fHkérk gksus ij ewY;kadu ds fy, vaxzsth 
laLdj.k dks vfUre ekuk tk;sxkA 

dPps dk;Z ds fy, 


